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Statics Second Exam — 5" May 2014
Exam time: 50 minutes o
ANSWER ALL QUESTIONS -WRITE YOUR FINAL ANSWERS ON THIS PA}’ER-
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-SHOW YOUR CALCULATINS ON THE ANSWER SHEET- Final answers with no solution will get ER_G \ ‘b -
Q1- The flag mast AB shown is supported by a ball and socket . _ 3. 2 e
support at A and by cables from point B to points C and D. / % (@ g -

The mast is subjected to force F=200 N that acts in the middle : B : / /

of the mast. F is in the%%lane and the direction of F make F \ b A ( O, & )
30° with an axis parallel to y axis. Given that the member AB ) My

is in equilibrium, determine the tension in the cables: E (O 7 & /0 /
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Q2- Given the shaded area shown, determine the x and y coordinates of the centroid:
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" Q2- Given the shaded area shown, determine the x and% coordinates of the centroid:

(10 marks)
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Ql For the truss subJected to the shown forces, support A is a hinge and support C isa

roller. Determine the followmg internal forces and indicate if Tension (T) or compresswn

©: A : ‘ (10 markg)

-t

1.1- NAB is ...

1.2- NEB is ...

1.3- NED is ...
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Q2- The rigid body shown is loaded
by weight W=1000 N at B, and it is
supported by the ball and socket
support at A and cables CE and DE.
Determine the magnitude of the P
tension in cables CE and DE.

(10 marks)
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Static Second Exam- Exam Time: 50 minutes
- 10" December 2012 —

Answer All Questions and Show Your Calculations Clearly on the Additional A4 Paper

Write down your final answers on this paper
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F1= 40 A F2 =60 W

U =S

TN TOSS 75 S0 €d 10 1orces: F; = 40 KN, F; = 60

support E is a roller. Determine the following and indicate4f Tension (T) or compression (C):
1.1- The vertical reaction at A is: (")’3,_5';1 » 49 2- The
1.3- The force in member BG is: .(.5{6..1.3’.2..6/! /

1.5- The force in member BC is: (77¢7}7
Téngion)

Q2- The boom ABC is supported by the ball and socket
support at A, and the cable BD. Force F is acting at end

C. Given that F = (18 i —6.75 k ) N, determine the

tension in cable BD and reactions at the support A

_(ign-gr—é Mf the boom): (10 marks)

2.1(’[5]) is +
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Statics

-Second Exam- 23" April 2011
“1- Answer all questions and show your calculations clearly and in details on the additional A4 paper.
2- A Final answer without a solution will get NO marks
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Q1- For the truss vsubjccted to the shown forces, the 6 kN . H

v

internal force in member GF is:
member " (3 marks)
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Q2- For the truss subjected to the shown forces, the < A/
o

horizontal and vertical components of the reaction at A Ax % B - C I
- are: hq ‘3,_ K T—
AL O KN, Ay=10._V (3 marks) 1‘5'kN ‘ e ;

—Ay.3 +15.6 425:2-20:3=0

4m -
Q3- For the truss subjected to the shown forces, the " 4 EB c k.
internal force in member BE is: [ \
= 2m
Fge: ..-.62,5. Cory?ression, (3 marks) . 3m T 2m 1
: 20N ° ‘20kN  30kN

SFy- ot (right part)
—20-30~ [y CosFph=0 _
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: -Second Exam— 23" April 2011 -

1- Answer all questions and show your calculations clearly and in details on the additional A4 paper.
. 2-AFina) answer without a solution will get NO marks
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Q1- For the truss subjected to the shown forces, the 6 kN )
horizontal and vertical components of the reaction at A
are: — 2k A B
_..——? :
A== ZKM, A,:.g/. ?5}(1\/ T (3 marks) _'% =
: ‘ T 1
2m 2m
— Py ¥ 6,5 —8.3 41p.g +18.5=0 ho
S S —— crma

el

o .
H £ ___G/ Fﬁ 25 kN
. E— / \ \
0
Q2- For the truss subjected to the shown forces, the 1A = N

E
Py B D EE
internal force in member FD is: | ]r ! J
Frp: .. R EN.0 vre v her (3 marks) Ll A 2m L
15 kN
= OOy R R SRR R R bt
i]>G F E Ei)
3686 4m
Q3- For the truss subjected to the shown forces, the C
. B D
internal force in member FC is: z % \l
Fec: .0 249 KNV fersion (3 marks) Ir 2m 3m 2m
v * 4 .
30 kN 30 kN 20 kN-

E'ng,-_o 1\{—
—20—30+ L+ (0534,86=0
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